1. VIO =x 9 gkol AA47} FES Sk A A4S ApaS v

@1 @4 ® 7 @ 10 ® 15

V36 °|BL& x = 40|t}




=

F tjan|mrt $2 A% BE DE2W?

oo

@ V5-V2< 5 © 4-v5>3-+6
© Vo-V2<+5-1

® 6 @ 6,0 ® 0.6
@ 9.6 ®o.06

B

@ Vo-V2-V5=-v2<0

S V5-V2< 5

©4-V5-(3-V6)=1-V5+ V6=V6-V5+1>0
~4-V5>3-6

© V5-V2-(V5-1)=-v2+1<0

S VE=-V2<F5-1




3.

Al

49 F 87 42 S BE D2W?

105

Mo
o

=

oo

O g9 AlEd2 2 7ok

@ 09 AFEL 0 lch.

@) Ag2 4% 22010,

@) eso) Aze 240lt,

® 2 9] 2o AF2L ~ V2 oIk,

B

Da>0<Ld, a2 AFEL +va, =2
@0 9] A&, = AEHA 0 0] He
O AFZ ) = Vi=2
259 AlFL2 it

®2 9 AFLL V2, S AFLL -




& A0] A4 F vk B 2L

D V52 x (—2)2:3 @M+ V10000 = 200
® -V + (Vi3) =6 @ VI - /(97 =1

® /(-20)2 - V400 = 0

@ +0.04 + V10000 = 0.002




3<x<5

32 < (Yx)2 <52 olBg

9<x<25

wr2bA x = 10, 11, 12, 13, 14, 15, 16, 17, 18, 19, 20, 21, 22, 23,
24 o]t}




B7]
@ Va2 =ua © (-a)?=-a
© -Va? =a ® -/(-a)? =-a

8,0 290 Goe ®oe 6ee

@a<0<¥u, Va2 =—aolth
®a<04¥9 W, —(-a) =a °|T}.




&% 30 7V 7Phe 5

@2z @2 ®2V8 @3v2 O35

B

D 2v2 =8
@ 2
® 2vV3 = Vi2
@ 3v2 = V18

7 49
©35:§:\/;
0113:«/5011%/5:«@35:;: %Olt}
A7) A Al &5 =24 Aol YetH of-23 Zet
o a3 & 9%
w2tA 3 I} 7HE 7H7ke = 22 olth




5
o
o
o) 3
B AN
< ©
1jo -~
g o
< S ~
o | g
£l s <z
, 7 Il
a S
Wl B ~
< ~
¢ = _ Il
ofF " _M
z_.o ._”_.H_ .._“_.“_M_ .
ojn b
T A A




9. o2 ¥4 ABCD &= 3+ ¥ o] Ao)7}b 1 ¢l AA}zZEo]ar, AC = AP
olch. A B o thgahs 472+ v2 L o, A P ol d-gahE 47}
a+bV2oIth a+b 9] F Fatoizt,

D C
\
\
\
\
\
\
\
< Y >
A B P
> =
> HE: a+b=3
FVZ-1=1+12

o

h

1o

Iy

==

Ir

— DN

1+ V2)+ V2=1+2V2°|BER a+b =3
ot




10.

%o A oPQRS &= A
go]1, PQ = PA, PS=PB

.FAHA By FRE
gt a+b 9 G

>

o

+H N o
o N L ot o

RS

.at+b=-2




